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Corr of Rep Measurements Across ad.01a and ad.01b
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Corr of Rep Measurements Across ad.02a and ad.02b
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Corr of Rep Measurements Across ad.05a and ad.05b
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Corr of Rep Measurements Across ad.07a and ad.07b
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Corr of Rep Measurements Across ctl.08a and ctl.08b
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Corr of Rep Measurements Across ctl.09a and ctl.09b
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p Value < 2.2e-16
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Corr of Rep Measurements Across ctl.13a and ctl.13b
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Corr of Rep Measurements Across ctl.11a and ctl.11b

cor = 0.9649
p Value < 2.2e+16
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Corr of Rep Measurements Across ctl.14a and ctl.14b

cor = 0.9695
pValue < 2.2e-16
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